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1.9 37687 3ol A veidY faf@es (IREDA) & Hecdl &, Raff@a & o
PIA-TT/H FYUT Tel &/ 872

(1). I8 s gfeas fafAes TR Fouer gl

(2). I8 T IR-dfRer faxirar swaaeir g1

AR fQU 91T e HT JANT X T 3R gAT|

A. Fae 1

B. %adl 2

C. 1 3R 2=t
D.adar13iRk agr2

Answer ||| C

Solution ||| Indian Renewable Energy Development Agency Limited is a
Public Limited Government Company which was setup as Institution of
Non-Banking Financial Services in year 1987 under the administration of
Ministry of Non Renewable Energy in order to encourage, develop and
provide financial help for renewable energy and energy efficiency to
promote necessity and need of Energy for All. This description confirms
that statement 1 which shows "It is a Public Limited Government
Company” and statement 2 that says “It is a Non Banking Financial
Company” are both correct, so option C is correct.

2.frafafaa # ¥ frael/feae diafas gaar (emnfrea sfewee) $r
Rufy gerer v 71 &2

(1). SR S 3R @nfzar

(2). TSTEATA STel-STEN-TTHAT

(3). fawafa &sg

A feT AT FHe FIeT Y FE 3N AT

A. Faa 1

B. %had 2 3R 3
C. %der 1 3K 3
D.1,23k3

Answer ||| C
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Solution ||| Geographical indication relates to name or sign which is
applied on particular products that is in relation to particular geographical
location. Geographical indication is quality or speciality in a product as per
traditional methods or reputation due to geographical importance. From
the above question, we see that statement 1 is correct as Banarasi saree
are finest sarees in India which are famous for gold and silver brocade or
zari embroidery. Statement 2 is incorrect as Rajasthani Daal-Bati-Churma
is a traditional food having no speciality, hence have no Geographical
Indication tag. Statement 3 is correct as Tirupathi Laddu both has a
Geographical indication tag. We see that both statements 1 and 3 are
correct, so option C is correct.

3.99-ufday e B¢ &l Foic @M &1 11¢ &l FF Hled & v TSR g@nT
Ffaf@a & O FI9-8) Fias/aRasAr S ST Jhdr &/ 87

(1). TSET-cTT H HAT ATl

(2). 7S FHATUTHRT ATSTATT HRFH FHLAT

(3). 3UCKHl (HCHSIST) T GeFciehloT el

(4). 3T & fTEAR HLeAT

ARy fQU 91T e @ FANT X T 3R giAT|

A. Faer 1 3R 3
B. %had 2 3R 3
C. Fad 1

D. 1,2, 334

Answer ||| A

Solution ||| Budget deficit occurs when there are shortage of tax
revenues which helps in funding government spending in shape of
government bonds. Statement 2 is incorrect as by introducing new
welfare schemes there will be increase in expenditure and with this the
budget deficit will also increase, hence this eliminates option B and D.
Statement 1 is correct as by reducing revenue expenditure, the budget
deficit will also decreases. Statement 3 is correct as rationalizing subsidies
will cut down the budget deficit. Statement 4 is incorrect as expanding of
industries will require investments that increases the expenditure, which
increases the budget deficit, hence this statement eliminates option D. So
we see that since statement 1 and 3 are correct, so the correct choice is
A.
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4.fAefafgd & @ Sla-ar v, ‘@ist AH Feheddsr (W3 AT w-dte) & 979
3¢aRT FT HafdA aofed &Idr g?

A. fRamET & 39 & W & SISl & 3TART Fel & [T Giearied el 3R 3o
R ¥ &iel Tliesl & T galcargd e

B. &l &l FUTARIFT disT 3cdleeT T YiRIETOT &l H SEMer 3R 3e7eh eanT
O @ FART AT W TUT 9§l o AT NI H IOTAGFA STl 3TeleeT
RTAT

C. T Tl H Iedeg &I § JANUIT dlsit & 3curet & fav € 3fese (3aA)
T

D. I#AT H 3cafAAT A IFfAATT (TSSEEIS) FAT TUT 3o ST Feafaar Hr
FUAT & foIT Sieamfarehr 3T faa 3ueretr s

Answer ||| B

Solution ||| Seed Village is a place where skilled farmers are employed in
production of seeds which involves certain crops that will help in
upgrading the quality of farm saved seeds. This concept take care of
isolation where cross pollinated crops as maize, sunflower which can be
resolved by raising single variety of crop in larger area. This statement
shows that B is correct as this concept trains farmers in seed production
that can be helpful for them to make available good quality seeds at
required time and nominal cost. Option A is incorrect as this concept
doesn’t encourage farmers to use own farm seeds and stop buying seeds
from others. Option D is incorrect as this programme did not involves in
finding of entrepreneurs and finance to set up seed companies.

5. bR Tl Afdse (YY) dr &

A. SRETOT R H Hcll a8 W gy @ & 915 Ry

B. qafeR #RA # 1 & gEAIeT W g1y & foham arar foiehst

C. ¥RA & yfRagsly RATET 87 & Feil a7 W 3N (solich) & Fr 15 RTRRY
D. 3TR-9RTHT ARG & Forger W a8 ¥ g1y & T 18 RFghny

Answer ||| A
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Solution ||| Kalamkari is prehistoric Indian Pen art work art which came
appears 3000 years ago in which artist make use of bamboo or date palm
stick and fixes hair to be used as brush or pen. The Machilipatnam
Kalamkari craft which was prepared at Machilipatham in Krishna district
grows with support of Mughals and Golconda. It is seen that kalamkari art
in India has two styles, one is Srikalahasti style and other is
Machilipatnam style, hence the correct option is A.

6.' %37 el (fuel cells)’, T E# gTsgiolel & THeY s 3R Mol
39T faega YeT #el & AU giar §, & Heedl # fArAfaf@d syl W faer
FifaT:

(1). TfE ety gregroled HT AT SUA & &I H gl &, ol FIIHA dol 3T-3c91G
(SB-UISFC) & T H FSAT UG STl Hl 3cdoted Xl gl

(2). T Bed I 3T §d=l & fdegd Jerd & faw ar fomar s aerdar

g, foheq dueid HFageR S oI Iiaaat (Barsds) & faw =@

(3). T3S e JeAmadt aRT (AC) & & # faegd 3euee ad &

3udad FUsdl § § Hl-ar / & w@ g/

A. Fae 1

B. %had 2 3R 3
C. %der 1 31X 3
D.1,23k3

Answer ||| A

Solution ||| Fuel cell produces electrical current which directs the cell to
give power to electric motor or anything else. For generating electricity,
fuel cells creates less pollution which uses hydrogen and oxygen on
combining to form harmless by-product, such as water on releasing heat.
This shows that statement 1 is correct. Statements 2 and 3 are incorrect
as single fuel cell generates less direct current electricity, so few fuel cells
on clubbing can generate more electricity. If an alternating current is
required then DC output of fuel cell gets channelled through inverter.

7.3y Aadr (fafFnfsie) i aaear Pefaf@d & & fhaedr seqeatdar @
Feaeyud g7
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A. g 3R Fard

B. @ 3R aér

C. 3o 3R 377 geldy Ha¢ (FTS i)
D. faa-afyr i (Teer)

Answer ||| C

Solution ||| International Liquidity relates to international reserves of
particular country who participates in world monetary and trading system.
International liquidity is linked with international payments which appears
from international trade. Since Dollar being the commander of
international currency dominating across the world in forex, so problems
related with international liquidity concerns with non-availability of dollar
and other related currencies. This description shows that option D is
correct.

8.HRAT Yol EaRT 39T H o S dlel sig earerdt (SA1-cidelcd) & HegH
#, efaf@d fyar W TR fifae:

(1). Sta <fiarerdl & ATld 37ARISE #T Iqae Hartel oAb (fungal inoculum)
gaRT 3UshiAd (3fAfRTe) giar g

(2). 38 HUESH & 3HcT 3cUIG hael AT Td SFA-asT gid g, S argHvsoT H
feed & Sa ©

39S HUAT A F DlT-AU/T TE 8/ 82

A. Fae 1

B. &had 2

C. 13k 2 a=r
D.aar13iRag?2

Answer ||| D

Solution ||| Bio-toilets decomposes Human Excretory Waste in digester
tank with particular high graded bacteria which convert it into methane
and water. In this Carbon dioxide and Methane are released in
atmosphere. In case of human excretion when in contact with bacteria
converted to methane and water by anaerobic digestion. This shows that
statement 1 is incorrect. Under the bio-toilet, bio-digester tank is filled
with inoculums having many bacteria types. The water trap system in the
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toilet prevents air from getting into tank where human waste gets
processed by anaerobic bacteria in a tank by allowing methane gas to
exposed to air. Thos shows that statement 2 is also incorrect, hence the
correct option is D.

9.H1N1 fawry & yrr: FArERt 7 Pefaf@d 7 @ e v ol & geest 7
3eol@ T STar 87

A. UsH (AIDS)
B. 5 %o

C. 3

D. TaTSe ¥e]

Answer ||| D

Solution ||| HLIN1 virus is known as swine flu as the disease is caused
directly in contact with pigs. It is a contagious respiratory disease in pigs
which is caused by swine influenza which is a viruse. It can be
transmitted to humans through infected pigs or environments which gets
contaminated with swine influenza viruses. This description shows that
option D is correct while all other options are incorrect.

10.9%d & TEET YOl & TR &, FAife

A. ot T3 FToTdT earT gcgel §9 ¥ fAaifag gidr g
B. ¢, TiAUTA FT MU X hal §
C. TS THT &7 91 A&r TRIAT ST Fehcll
D. #ARURYE, ol T & ey IRy &

Answer ||| D

Solution ||| Parliamentary form of Government appears as a system of
government where close and pleasant relationship exists among executive
and legislative organisation where stability and efficiency of executive
department depend on legislature. In this, Council of Ministers is totally
responsible to Lok Sabha, so option D is correct.
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11,5 3cdled # FIc6 & goll & TUT W SEAIT & goll bl 394197 fArfafad
H O fhger 31T g7

A. HH STl arell FGANRT (CFreliiotehel) Farfa
B. ol §¢lel arell Wef R garfa

C. Yot =erel arell Wemh yarfa

D. 39ded & & &S wgr

Answer ||| B

Solution ||| Technology progress can only be related to either labour or
capital augmenting. Capital is basically the backbone of machinery or
capital goods which are used to produce other goods. Labour augmenting
technological process takes place when labour skills are upgraded through
communication or instructions. Capital augmenting technological progress
applicable in more productive application of capital goods, which can be
substitution of steel for wooden plows where low machine is substituted
by better machine which helps in steel production. With this we see that
option B is correct.

12.9R%d & IOUsT H ‘FedueRy I &1 3Me frad gfasea §?

A. 3ccTRrehT

B. TeT &l #ifd & e dca
C. 7ol 3fsR

D. AR 3reTgdr

Answer ||| B

Solution ||| Welfare State is that where the focus of government is to
protect and promote economic and social well-being of citizens. It
depends on principles of equality of opportunity, equitable distribution of
wealth and public responsibility for those who are not able to enjoy
minimal provisions of good life. Directive Principles of State Policy helps in
publicize welfare state in making policies for social well-being of citizens
of India. This description shows that option B is correct. Option A which is
Preamble is incorrect as it lists objectives of socio-economic for the
society and is not related to designing and execution of policies as per
objectives. Option C is incorrect as Fundamental Rights simply involves in
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freedoms of citizens by enjoying certain rights and is not considered for
framing of any policies.

13.fafafad ¢l W faar fifav:

(1). e

(2). B

(3). 9IRa

(4). gorIgel

(5). gTfehEdTeT

3dEd 7 ¥ HA-H, WA AEE & IR aved @ (G 3T @ -
AR 3T ~gFelleR Au=d) S8 FHAI: RA] IJYEAR @ (FgFeia
ATA-NTABA EEN) (NPT) o A1 & ST STl 8, foh Aedal & 3eJaR, TRAT]
AET-HFYr] T (vgFelldel dY-H EECH) 872

A. Faer 13X 2
B.&%da 1, 3,4 3R 5
C. %adl 2, 4 3R 5
D.1,2,3,43R5

Answer ||| A

Solution ||| Treaty on Non-Proliferation of Nuclear Weapons was an
agreement between five acknowledged states which are United States,
Russian Federation, United Kingdom, France and China where nuclear
weapons along with nuclear explosive devices with their technology not to
be transferred to any non-nuclear-weapon state. From this we see that
only 1 and 2 are correct as China and France are part of Nuclear Non-
Proliferation Treaty. Statements 3 and 5 are incorrect as India and
Pakistan produces Nuclear weapons and have already tested and
declared, but are not part of the treaty. Statement 4 is incorrect as that
they possess nuclear weapons, while Israel has had a policy of cloudiness
regarding its nuclear weapons program.

14.9Rd # HoHId & Heedl H, HeAToi@d hual 7 & la-ar T@r §7?
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A. SR & Hal TR &1 HAIA0T hael HRT TSR HT 3eIAcd §

B. HoEhIT & @30T # HRCAT Rord doh &1 @IS s{ffienr =761 §
C.dagmﬁaqﬁaaﬁ(ﬂ?ﬁaéﬁ%m),ﬁmﬁﬁr%ﬁﬁawﬁmm%
D. ST §3T T IRTelel, AGRFHIT & fAAT0T F Hraer el &

Answer ||| C

Solution ||| Inflation in India is due to coming up of surplus requirement
of goods and services in relation to output at existing prices. It is an
alteration in percentage value of Wholesale Price Index on year and year
basis which are used to find the prices of excess goods and services on
year and year basis. Lowering of money circulation will stop money to be
invested by people for purchasing of goods. When the demand is lower,
then the goods price will fall which basically helps in reducing inflation.
This explanation clearly describes that option C is correct. Option A is not
correct as it is not only the role of Government alone in controlling the
inflations, but at the same time the duty of manufacturer to take care of
inflation rates. Option B is incorrect as Reserve Bank of India decides for
the percentage of banks demand and liabilities in form of Cash Reserve
Ratio without interest as payment of interest attenuates its effectiveness
in terms of monetary policy. Option D is incorrect as inflation can be
controlled if the money circulations is lower.

15. 9% 3TaedT & oy H, Aafaf@d W R Hifaw:
(1). deT

(2). Gl S1SIR &HRaETS (39T AThe TIRL=)

(3). ot HUT (dfcels 3ec)

(4). ol ToTEa (qfeelsh Y0+g)

3UFT A @ &ia-A1 @ #ifew A w1 & "eh g/ §?

A. &hae 1
B.2,33R4
C.13R 2
D. 1, 334

Answer ||| C
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Solution ||| Monetary policy is a credit control taken by central bank
which serves as methodology through which monetary authority of nation
handles supply of money in order to meet inflation rate or interest rate for
proper supply of money, rate of interest and availability of money for
achieving particular objective. The components of Monetary policy
includes bank rate variations, open market operations and changing
reserve requirements, so 1 and 2 are correct, hence option C is correct.
Public debt and Public revenue are related to Fiscal policy as these are
taxes and expenditures used by government in order to manipulate
economy, so 3 and 4 are incorrect, which eliminates option B and D.

16. 99 ST SGEUT AT Hl 36620 HT AR AT g2
(1). g & -9

(2). Tl AF STaTEeE

(3). Mepdife Ahearentor

(4). T HAGUT (PrSARIT HSeISIUA)

foe QT aTT e & JA@eT HT FE FH A

A. a1, 2 3R 3
B. ohdel 2 3R 4
C. %der 1 3iR 3
D.1,2,33R4

Answer ||| C

Solution ||| Panchayat Raj system serves as backbone of Indian
villages/rural population which takes care of problems of rural areas. In
the above question, Statement 1 is correct as Panchayat Raj system
ensures that people in villages should actively participate in development
which can in areas of agriculture, irrigation, animal husbandry, public
health, education, etc. Statement 2 is not correct as Political
accountability serves as obligation of government officials to behave in
interests of society which is not the objective of Panchayat Raj system
which eliminates options A, B and D. Statement 3 is correct as
Democratic decentralization improves opportunity for local people in order
to take part in decision making resources which is the duty of Panchayat
Raj system. Statement 4 is incorrect as financial mobilization is not the
objective of Panchayat Raj system but on the contrary panchayats have
powers to collect revenue to fulfil fundamental objectives which eliminates
options B and D, so finally option C is correct.


http://www.gradeup.com/

e

www.gradeup.co gradeup

17 fAmfaf@a & @ sla-ar v, ‘TdT (ShIf8EeH)’ eee T Fdfchse qoie g?

A. Th-gd ¥ HAIfeshal el drel Sfal (3ianfeess) 1 Th g™
B. g &1 g8 #T ST Hallg Sl (ffder sffenfeies) garr marf@a §
C. Shiat (ififaesd) &1 FHeT iR @1y & 98 9daRor fS9ud 9 & 8
D. i stanfos &7 & gawafasta 3R wivera

Answer ||| C

Solution ||| An ecosystem is a group of organized elements which are
formed by interaction of community of organisms along with its
environment which includes. It is a community of living and non-living
things such as air, water and mineral soil. From the above options we see
that option C is correct as it days a community of organisms together with
environment in which they live. Options A, B and D are incorrect as
ecosystem does not relate to community of organisms interacting with
one another, nor it is the portion of Earth that is populated by living
organisms and also it has no relevance with flora and fauna of a
geographical area.

18Rl T Y3, Tehell 3R WUSAT & & HT 3R 38 314007 " Jg 3U=Y
foraed fohar arar g2

A. Gfaere dT 3egfRrenr

B. e & &ifd & faAgers dca
C. 7ol 3fsR

D. He &iad

Answer ||| D

Solution ||| The Article 51A of Constitution constituting Part IVA reads
under Fundamental Duties which says that it is the duty of every citizen of
India to support and protect independence, self government, unity and
integrity of India. This explanation clearly describes that option D is
correct. Option A is incorrect as Preamble of the Constitution does not
represent functioning part of Indian constitution. Option B is incorrect as
Directive Principles of State Policy serves as principles which are given to
central and state governments in order to frame laws in State and is not
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related to individual duty. Option C is incorrect as Fundamental Rights are
privilege for every Indian citizen to enjoy proper and harmonious
personality.

19.feif@d 2« W Tar Hifav:

(1). ¥RA # Tl T Fr faud aRwe H 39 U 61 fqurT gar $r gsit dic
F2r g1 ehdll g

(2). R ToT T TSI 38 TT A fAue aRve & gaefa & FERT war
gl

39T HYAT A F HlT-A1 & T 8/ 8?

A. &gl 1

B. hadl 2

C. 1 3R 2 g&t
D.adr13iRk agr2

Answer ||| D

Solution ||| In Legislative Council is permanent house having the strength
of Council members will not be more than one-third the strength of state
assembly. In case of smaller states, the minimum strength of Legislative
Council can be 40. Since there exists fixed strength of members in
Legislative council which limits to 1/3rd that of legislative Assembly, so
Statement 1 is incorrect. This eliminates option A and C. Statement 2 is
also incorrect as Chairman of Legislative Council is elected by council of
members and not nominated by Governor. So with this we see that option
D is only correct as both the statements are incorrect.

20.9RAT HITTEAT & FeedT H, Rafaf@a FUal 9T [Jar Hifav:

(1). Uo gere # areafds Fehol Be] 301G T JEfd-aX RIAR et W& ol
(2). oo g2k & STeR AT W (TG A) Fehel Be] 3cUTG HINAR SGT 8T
gl

39ded HYUA H H HIT-A1 / T HE &/ 8?

A. Fhad 1
B. shddl 2
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C. 13k 2a=r
D.aar13dkadr2

Answer ||| B

Solution ||| Real GDP growth or Gross Domestic Product growth is the
quantitative measure of nation full economic activity that shows monetary
value of goods/services produced in borders over particular time. The
table below shows comparison of Real GDP growth of India:

2020 7.75

2018 7.70
2018 7.85
2017 7.55
2016 7.47
2015  7.46
2014  7.17
2013  6.90
2012 5.08
2011 6.64
2010 10.26
2009 248
2008 3.85
2007 5.80
2006 5.26

This shows that statement 1 is incorrect as rate of growth of real Gross
Domestic Product does not gradually increase in last decade, so this
eliminates A, C and D. Statement 2 is correct as when growth rate
declines, then GDP will not be negative, hence GDP at market prices
always increases every year since last decade, so option B is correct.

21."gX f&eT AT UH-AT €1 gl &1 GoIg, TFHAI He, Tael & A1Y, Ah 3R
3STell gl §1 S-S FF 3T & I AGT &, AT TGl STl &, Bl sieel
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Tolar o1 § 3R R aeal 1 IR 3R SsTel 1 I57s F T au gl o7y
g1 oifhaT auT ofer & FaATeT 8 ardr 1
35 d 36T H [Arafaf@a &9 # @ frdehl WWW%—'?

A. "HdrT

B. fayacia

C. HielgsT

D. HALTHERIT

Answer ||| B

Solution ||| Equatorial climate relates to high temperatures which can be
above 28 °C with heavy precipitation which can be around 900 cm with
heavy clouds having high relative humidity normally with very less
variation in temperature. This description clearly describes the lines in the
questions, so option B is correct.

22 .91 AHATERT & @Y el arell ‘sifodT 8Ivor 3R wiars 79 (AT Beeree
U3 Tolewida B Uarr) faefoi@d & & = g2

A. 8T 3fdeare § e &1 T ST (Teeal), AU TEANT TId (TS
PITRLAA TTASAAA) T S T Teh IROMH

B. TRIAT -yiledd & €MRONT 31{¥eh Faefer 1 Teh hRi-Alslelr, TR ¥ #a
(RT3t sHhETA® BRA) & fGarR-Aad F1 e o

C. HIgT FAFAROT g Teh HRIG, Il TSE SaRT AN 4T FFAel
FI Uk gROTH

D. g3 Sial & 3JAR gedar (Efsfaan) i Aspener g wRANTA, gdf oiRrar
ReR gFFee (3¥c vfar wffe) fr v 3gavor

Answer ||| C

Solution ||| Beijing Declaration and Platform for Action serves as
international declaration of women’s rights which is started at United
Nations landmark Fourth World Conference on Women which was
conducted by Beijing in year 1995. This platforms function on matters and
concerns related to women and poverty, violence against women and
decision-making. This statement confirms that option C is correct. Option
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A is incorrect as Beijing Declaration and Platform for Action is not a
strategy which will handle regional terrorism. Option B is incorrect as
Beijing Declaration and Platform for Action is not related to sustainable
economic growth in Asia-Pacific Region. Option D is also incorrect as
Beijing Declaration and Platform for Action doesn’t relate to strategy to
combat wildlife trafficking.

23.9R1d A, Aefaf@d & 4 g v ao-9%9 #, aeila (8eh) T gorrdT gat
et 87

A. 3scahfcatiiT 3T qoTaredT gt
B. 3schfeatiT auT aof

C. 35cahfecatiT herell SMar aef
D. "rHHegFd AfdArsoT gt

Answer ||| A

Solution ||| Teak is a large deciduous tree that is around 130 feet tall
having grayish brown branches that prefers moist and worm tropical
climate and can handle extreme temperatures. It serves as pioneer
species and are available in region having high rainfall of about 2000mm.
Teak tree is an important species of Tropical moist deciduous forests as it
can sustain in extreme temperature and requires heavy rainfall of around
70-200 cm. The other species of this forest are Sandal wood, Shisam,
Mahua, Sal and Bamboo, with this we see that option A is correct. Option
B is incorrect as Tropical rain forest are areas with hot and wet climate.
The examples of this are Banana Tree and Rubber Tree. Option C is
incorrect as Tropical thorn scrub forest receives very less rainfall of about
80 cm. Option D is also incorrect as Temperate forest with grasslands has
extreme temperatures which does not allow Teak plantation.

24 EiEvr-afadl TR 1 Hefaf@d A @ SiF-81 U G HHRETAER deh ol
Ter og?

A. TR=r
B. SiseT
C. JsaTeT
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D. SIS

Answer ||| B

Solution ||| Countries having coastlines on Mediterranean Sea appears to
be Albania, Algeria, Bosnia, Croatia, Cyprus, Egypt, France, Greece,
Israel, Italy, Lebanon, Libya, Malta, Morocco, Monaco, Montenegro,
Palestine, Slovenia, Spain, Syria, Turkey and Tunisia. From the above list
of countries we see that it is Jordan which has no opening at
Mediterranean sea as it is surrounded by Syria and Israel, with this we
see that option B is correct. Apart from Jordon, other South West Asian
countries which does not open out on Mediterranean Sea are Iran,
Armenia, Azerbaijan, Georgia, Qatar, Kuwait, Bahrain, Iraq, UAE, Saudi
Arabia, Oman and Yemen.

25.'95a18% ScleieeTel (BirdLife International)’ siTHe HIT6A HogeT

#, eafaf@a & & sla-ava s Tgr &/ €2

(1). g TLETUT Hraal! T Aegeardt smefiery &1

(2). ‘Sla fafaerdr glewdic’ 1 Thed= 30 T & AT &3

(3). Ig ‘AgTaqUl Uah va olg faftar & (s+uidee &3 Us draissaidie tRars)
& ¥ # Ad/fAfcse TU@t w1 ggaeT R gl

ARy fQU 91T e @1 JANT I FE 3R giAT|

A. Fad 1

B. shdel 2 3R 3
C. dhaol 1 3K 3
D.1,2 3R 3

Answer ||| C

Solution ||| BirdLife International is the world’s largest nature
conservation Partnership which makes every effort to conserve birds,
their habitats and global biodiversity while working along with people in
the direction of sustainability. BirdLife International has over 120 partner
organisations which aims to find, monitor and protect birds across the
world and various other wildlife. This description shows that option C is
correct as both statement 1 and 3 explains about principles of BirdLife
International nature conservation Partnership. Statement 2 is incorrect as
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BirdLife International does not demarcate any biogeographic region, so
biodiversity hotspot does not appear from this partnership.

26.8Tc &1 # ATaf@d & & 5T Teh AT &l ARART AT (FelT el olado)
& gl (Teew) fear amr &2

A. 3fsar

B. Shiehuir
C. #erqdr
D. 3rafaar

Answer ||| A

Solution ||| In Indian Constitution, out of 22 languages there are
scheduled languages who have given recognition, status and official
encouragement like Tamil, Sanskrit, Kannada, Telugu, Malayalam and
Odia. It is noted that in 2014, Odia was 6th language of India who got
classical language status and receives financial assistance for setting of
centre of excellence for study. With this we see that option A is correct,
while option B, C and D are incorrect as these languages doesn’t come
under classical language status which was awarded recently.

27.9e el AR FlAwT (PREC Fdel IEaRRIT HRATATE) & Heash

H, afofaa & 9 Fi9-a1/a Fu9 T8 &/ 8?2

(1). T§ TIFHRI, SIIIRT, AIRS FATS 3R i a1 BT duew) $r
kg AmfierY &1

(2). IF YN (FEAT) T Taotlel g TATAUT-3eTgell (ShT-Shgen) 3R
SToTdIy 3Telehelel (FATSHAC VSTRIS) W ARl (Caeilelioiel) & fad & faw
danfeier arferdhr reTeeeT 7 o favafdearerl, Ay (Fffasare) danfaet aur
TEAT3T P O FTIdaT Weld adr gl

(3). TE T T, 3T ‘Teller sl AR FAfATIROT IcdolT F7 Ha + (Regfer
UTAT=E WA IABRICAA U8 BREe B3I3e +( (REDD +)] vt & fadig g
dehaileh! TEIAT USld &Y, FeE Har &l

ARy fQU 91T e @1 JIANT F FE 3R giAT|
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A. Faa 1

B. %had 2 3R 3
C. %aer 1 3R 2
D. 1,233

Answer ||| C

Solution ||| Forest Carbon Partnership Facility is a programme managed
by World Bank that serves as global partnership among governments,
businesses, civil society and Indigenous Peoples which works on lowering
of emissions resulting from deforestation and forest degradation,
conservation of forest carbon stocks and sustainable manage forests. This
description clearly satisfies that both statement 1 and 3 are correct, so
option C is correct. Statement 2 is not relevant to Forest Carbon
Partnership Facility programme as it does not provide provides any
financial aid to universities, scientists, institutions who are involved in
scientific forestry research, so this eliminates option B and D.

28.530 FT TATRT H W AT aTell 2T ‘Sw837eh (INndARC)’ forderT =TT 87

A. ST ®T & ARfAd, ARAT & (Bhea) # Af¥sariiad ER fweA

B. fewe AR R&A & =il T FaT YeTel Fel g HR HT 3UIg

C. IR &aRT 3eclhicesh &7 H TAMUT Tk daiifas gfassre

D. 3Mehfeeh &1 & deflioleh 3T g Rl I Heclololld JERMEAT (TSl
3iTeaTded))

Answer ||| D

Solution ||| IndARC is a multi-sensor Indian underwater moored
observatory deployed in Kongsfjordan Fjord of Arctic which is in between
Norway and North Pole which interacts among Arctic ice shelf and deep
sea which studies about detailed climate shift of annual seasonal cycle.
The idea behind this is to gather real time data based on seawater
temperature, salinity, ocean currents and parameters related to fjord.
This certifies that option D is correct. Options A, B and C are incorrect as
purpose of multi-sensor underwater moored observatory is not to
introduced indigenously developed radar system introduce in Indian
Defence, nor related to providing services to countries of Indian Ocean
Rim and does not serve as scientific establishment in Antarctic region.
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29.farAfafRd Tt W faaR fifav:

(1). 3OS Ye=r

(2). feHATTer uaer

(3). AeR=

3 Al 7 @ frad/ feere Iwuafearti g wemelt &= gl 82

A. Fad 1

B. ohdel 2 3R 3
C. daa 1 3k 3
D. 1,233

Answer ||| C

Solution ||| Tropical Wet Evergreen Forests are rain forests that are found
in places where there will be heavy rainfall and annual temperature varies
from 25 © to 27 °C with average humidity above 78%. We see that
evergreen forests are commonly found along Western Ghats from
northeast to south-west across Arunachal Pradesh, Assam, Nagaland,
Manipur, Mizoram, Tripura and parts of Andaman and Nicobar Islands. So
with this we see that 1 and 3 are correct hence correct option is C.
Tropical Wet Evergreen Forests are not found in Himachal Pradesh, so this
eliminates option B and D.

30.'f%e 817 FOR (AR Bres F#gfadere) (NFC) e & aeast

H, FrAfafd Fu &  Fi-ar / T a@ g/ 82

(1). T§ U FFUeigd HON Sl §, St fegd-geaehg Isar &=t
39T FAT ¢

(2). NFC 37 giFaat (fBarsdien) qanr suen & fow sfdwfoua fFm mr §, s
Teh-gil & Teh HIeT & gt X o fufaq g aohd &

(3). HaGeTMNe FIAT Aol AT NFC HISIor (Tesherle) &1 39T X HehdT
gl

A feT T FHe HT GANT H HE 3 GlAT|

A. Faa 1 3K 2
B. shaol 3
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C. &dol 1 31K 3
D.1,23k3

Answer ||| C

Solution ||| Near field communication is a wireless communication
technology based on electromagnetic radio fields and devices
communication such as smartphones or tablets. This statement clearly
satisfies statement 1 in the question. Statement 2 is incorrect as NFC
works from 4 cm to 10 cm, so this eliminates options A and D. Statement
3 is correct as NFC establishes secure channel and encrypt sensitive
information while sending just like credit card humbers. While encrypting
credit cards information, subway tickets and paper coupons on single
device, customer will able to travel in train and can exchange his details
through smartphone. Since both statements 1 and 3 are correct, so best
option is C.

31.'UafiHe 3 Wfiheak (Agreement on Agriculture),’ ‘Uafide 3 &
UceliheleT AT dfaedr U3 gmseifaedr A9 (Agreenebt on the Application
of Sanitary and Phytosanitary Measures)’ 3iR ‘& Farar (Peace
Clause)’ 2Ts¢ 9T GATIRY & forgeh ATHAT & Heedl & 30 87

A. @i 3R H Harteed

B. STe/ary IRl I Il ASE I TRET FFH
C. {323 saUR FIreT

D. §gFc ITSE TATROT Hdsh

Answer ||| C

Solution ||| Agreement on Agriculture is an international treaty of World
Trade Organization which got negotiated during completion of Uruguay
Round of General agreements on trade and tariff. The main principles of
AOA are domestic annual support, fair market oriented agricultural
trading and subsidies on exports. This clearly says that option C is
correct. Option A is incorrect as Food and Agriculture Organization
supports countries in design and implementation of trade agreements
which are favourable to enhanced food security. Option 2 is also incorrect
as United Nations Framework Convention on Climate Change is an
environmental agreement whose aim is to stable greenhouse gas
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concentrations in atmosphere to save dangerous human involvement with
climate.

32.3MYfeieh dAMiareh 3THET & Heest H, gl & & AR & 30 gfarol ¢ga
W ¥ T HUT FAS (Ticwhel Seaex) sHaygs (ICECUBE) & s #
ffeaf@a et w far fifew:

(1). Ig a9 T HEH 37, % H Teh 6l fohellAIc WX dTell, 7l Hqaeh
R B ¥

(2). IE 3% AKX (dark matter) Hr @aT & T Tt AfFTRATT qT&T B
(3).aga'qsﬁwr§ﬁam§m%l

3UYFd HYUAl A @ FlT-AV F T ¢/ 82

A. Faa 1

B. %had 2 3R 3
C. %der 1 3R 3
D. 1,233

Answer ||| D

Solution ||| IceCube serves as particle detector which is placed at South
Pole that keep record of relations of massless subatomic particle. Te
searches for neutrinos from aggressive astrophysical basis like setting off
stars, bursting of gamma ray and devastating happening that carry black
holes and neutron stars. The telescope serves as strong tool to find dark
matter and describes physical processes that are linked with mysterious
origin of highest energy particles in nature. IceCube is largest neutrino
detector that cover cubic kilometre of ice and is placed below the surface
of ice at the depth of 2500 meters so as to obtain accurate results. With
this explanation, we see that all the three statements are correct and
hence option D is correct.

33.frfaf@d & @ Sl A FASR & fov 3usedr Hrad g
(FYF TS 9 FFaN B 3Tl ahd)’ ToAeprerdr §?

A. I Rea d=
B. 3T &1 fFamer
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C. 5H s
D. ffAs 3R gfetor fasmr

Answer ||| C

Solution ||| Consumer Price Index Numbers for Industrial workers
measure price change with time of fixed basket of goods and services that
are utilised by Labourer. This Consumer Price Index Number releases on
the last working day of the month, so this makes option C correct.

34.91Rd TR IARTA, 1919 S Aeafaf@d # @ g Tase &9 ¥ g
forar?

A. STl T faemiaent (fSieeer) & ot Afdd T JUFHIOT
B. %ealT TF Uledld EIHRI hr AfARIRET

C. {IRA & dshedl 3% TT UF IET ST AfFaar

D. 39ded # @ &S wgT

Answer ||| B

Solution ||| Government of India Act 1919 also known as Montage-
Chelmsford Reforms came into power in 1921 that mainly involves in
process of easing of central control of provinces by way of demarcation
and separation of central and provincial subjects. This statement confirms
that option B is correct. Option C is incorrect as the act discusses the
powers of Secretary of State and Governor general in terms of reserved
and transferred subjects. Option A is incorrect as the power of judiciary
and legislatures are not separated.

35.FFe@d dy«r W TR Hifee:

(1). TT T 7 o7 99T & AT dF FEAPR Fled AT AT el T HIg
afed Afea sET &

(2). T | 3reqeral T Aol W AcTeld g1 A Hehell ¢

(3). o g1 H aii¥s faxi faavor ax ==t g7 &7 Thdrl

3UYF FYAI A @ FlT-AT / F FE ¢ / 82
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A. Faa 1

B. shael 1 3R 2
C. %aer 2 3R 3
D. 1,233

Answer ||| B

Solution ||| Statement 1 is correct as in terms of Money Bill, Rajya Sabha
has no power either to reject or amend a Money Bill but can only make
recommendations on it. Money Bill if not returned to Lok Sabha within 14
days, then it is concluded that the Bill have been passed by both the
Houses with particular period of time. Statement 2 is also correct as Rajya
Sabha has no power to vote on the Demands for Grants and has no power
to pass no-confidence vote in Council of Ministers. cannot vote on the
Demands for Grants We see that only Lok Sabha can vote on demand for
grants while Rajya Sabha can only keep money bill for not more than 14
days prior which the bill should be returned to Lok Sabha along with
recommendations or passed by Rajya Sabha. If it is not agreed in both
the houses, then the bill is deemed passed in form as passed by Lok
Sabha. We see that every year budget is discussed by Rajya Sabha.
Statement 3 is incorrect as Rajya Sabha may discuss Annual Financial
Statement. These three statements eliminates options A, C and D so
option B is correct.

36.%9F Orifate 9el & et &7, Rafaf@a s« W IR fAifee

(1). 38a fafeer AT & afgsPR 3R FA F 3UaaeR (3d91e) T Tohreld S|
(2). T§ TAGRI-TIT &l TAATIRcd TATAT HLeAT aATgar 27|

(3). THA HeTHTTR! AT Giold @il & [T g TAdTal-a1 S geprelcd |
3UYFA HYUAT H @ DlT-AVE FE 8/ 82

A. Faer 1 3 2
B. %haa 3
C.1,23k3
D. IS gl

Answer ||| D

Solution ||| Congress Socialist Party work as collective group inside
Indian National Congress that supports decentralized socialism keeping
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required shares of economic powers for co-operatives, trade unions,
independent farmers and local authorities. The CSP after forming group of
socialists focus on complete Independence from imperialism. Statement 2
which is” It wanted to establish the dictatorship of proletariat " is
incorrect as concept of dictatorship of proletariat started with Karl Marx
which further adopted by Vladimir Lenin, so this eliminates option A and
C. Statement 3 which is “advocated separate electorate for minorities and
oppressed classes” is also not correct as it was Pocker Bahadur in 1947
advocated separate electorate for minorities and oppressed classes and
not CSP group.

37.F=fef@a d & Fla-ar v, IRT &1 TET STl ol 872

A. IR 9T 6l #7AIR

B. 3iiferd Rgel &l (F)
C. 33T &1 STelfthel

D. afsarer

Answer ||| C

Solution ||| Gangetic Dolphin or River Dolphin is National Aquatic Animal
of India which represents purity of holy Ganga since it can survive only in
pure and fresh water, so option C is correct. Option D is incorrect as
Gharial is a fish-eating crocodile which is not a National Aquatic Animal of
India and is found mostly in northern part of Indian Subcontinent. Option
B is also incorrect as Olive ridley turtle is the smallest sea turtle which is
not National Aquatic Animal of India.

38.4Rd & H¥ 3cUleal & R & fhae 3ifeh fAfaafaa fear srar g2

A. AT aFd Jfafaa#, 1955

B. Tal g@rT JRARMAT ¥ curg Ao afafa st

C. ¥ 3cures (Foferor Td fgarha) ifafaas, 1937

D. W 3c9TE 3MGer, 1956 Ud AT JUT Wied 3cUTg, e, 1973

Answer ||| B
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Solution ||| We see that in India, agriculture markets across the Country
are established which are regulated under APMC Acts. In a state, market
area is confined and demarcated inside markets which are managed by
Market Committees that are constituted by respective State
Governments. With we see that option B is correct. We see that option 1
is incorrect as Essential Commodities Act is related to controlling and
monitoring the production, supply and distribution of certain commodities
and not related to regulating of market. Option 3 is incorrect as
Agricultural Produce Act is related to commodity grade designation,
penalty of selling mis-graded articles etc. Option 4 is incorrect as Food
Products Order, 1956 and Meat and Food Products Order, 1973 implement
hygienic standards and further will exercise on quality control on meat
food products.

39. 5T &8F H AAFATdGT & 3TN & Jogd H, Flaf@d F=t & I
hiT-AT/A Hel & / 872

(1). Seiieaatalisl & GaRT oeagerd W Jerd e (erfes g BfoaR) gwera
X fear a3 gl

(2). SAARFAAST ST 3TAR (ST ) & U a7 A9 & Tohal gl

A feT AT FHe H JANT F FE IR I

A. Faa 1

B. &had 2

C. 13k 2=t
D.ar1ikagr2

Answer ||| C

Solution ||| In case of Nanotechnology, we see that statement 1 is correct
as hanomedicine serves as targeted drug delivery by nanoscale drug
carriers which results in 94% of new potential therapeutics having poor
pharmaco kinetics and biopharmaceutical properties, which shows that
there results in great demand to develop drug delivery systems which
express therapeutically active molecules without disturbing organs and
tissues. Statement 2 is also correct as nanotechnology can be used as
non viral approach to enhance gene therapy for cancer which improves
transfection efficiencies of nonviral carriers. Since both statements 1 and
2 are correct we see that option C is correct.
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40.519 R Rerd o @ifaeniaes dadr 3eqard (Feegdl fafdnsie IR
&I 50 ATUR 37 (AT GI3c) HH I &l g, af Fdieli&d d & FT glel hr
JEATTAT gl 87

A. 9RT Y GDP R & gaelar & el

B. facell @Eumra fHagres gAR gor # 3R & Yol ordar

C. 3Iqfaa arfoifsdes d U= 3UR &4 &I &T &I Gl Hehed &

D. 30 dfer cyarar &Y ARdr (TAfFsER) & yserdr & &y 37 Thdr &

Answer ||| C

Solution ||| In order to have more liquidity to banking system, Reserve
Bank of India sometimes reduces Statutory Liquidity Ratio to certain
required basis points. Lowering of SLR allows banks to park less money
with RBI through securities cash etc and can lend extra money, so option
C is correct. The idea of GDP is to keep India growing financially by
creating various jobs and having good standard of living. It is not in
relation with lowering SLR by Reserve Bank of India, so it is incorrect.
Lowering of SLR with 50 basis points made by RBI is concern with lending
rates and not liquidity in banking so this is also incorrect.

41,3 3T FEHTaAT (Felledl Sl giedded) Rdic afts &9 &
farafaf@a # & &l Il sar g2

A. T o d&

B. U YoATAATOT 3R faehrqy deh (XTI o R Revecaere U5 Saeicac)
C. g, vH. sl Rod

D. faor d&

Answer ||| D

Solution ||| World Bank reports Global Economic Prospects twice in a year
in order to examine growth trends for global economy for developing
countries which was published by IMF, so this description clearly says that
Global Economic Prospects is related with World Bank, hence option D is
correct.
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42 . =faf@d & O &9, ¥IRT d 39faaerare F/d das a1/d?
(1). TS ARIST

(2). S, FATT 3TFAX

(3). IR, AT, &

AR fQU 91T e HT JANT X T 3R gAT|

A. Faa 1

B. &hael 1 3R 2
C. %aer 2 3R 3
D. 1,233

Answer ||| D

Solution ||| Dadabhai Naoroji, also called as Grand Old Man of India was
a businessman who had excellent analysis on colonial economy related to
economic drain in Poverty and Un British Rule in India, so it is correct.
Apart from Dadabhai Naoroji, G.V. Joshi, G. Subramaniya lyer, G.K.
Gokhale were other workers and journalists who analysed several other
aspects of economy and studied economic issues and colonial economic
policies, so this is also correct. Romesh Chandra Dutt who was a retired
ICS officer published “"Economic History of India’ in 20th century in order
to examine details about complete economic record of colonial rule since
1757. So with all above options we see that option D is correct as all
three statements are correct.

43.9Rd # U S dTel FTATURY ‘SLINT & Hogd H, Fefaf@a Foe & @
FiA-AT/A FEl g/ 872

(1). I T ATHBRT HHA S g

(2). I§ ORI & QU GHg dC & HY-ATY GAT AT &

(3). 38 =g Sha (EeToT) I, 1972 &7 36eE [ & 3efer fafe dwefor
fear arar B

ARy fQU 91T e @1 JIANT F FE 3R giAT|

A.13R2
B. dhdol 2
C.13Rk3
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D. &hddl 3

Answer ||| C

Solution ||| Consider the above statements we see that statement 1
which is “It is a herbivorous marine animal” is correct as Dugong also
called as sea cow is a herbivorous marine mammal having peculiar
grazing features. Statement 2 which is "It is found along the entire coast
of India” is incorrect as its habitats are present across major reef regions
of Gulf of Mannar, Palk Bay, Andaman and Nicobar Islands and Gulf of
Kachchh. It is present not along the Indian coastal but also in warm
waters from East Africa to Australia. Statement 3 is correct as Dugong
has been protected under serial 7 part-I Mammal of schedule I of Wild
Life Act, 1972. So we see that option C is correct

4439 & T H PITel T U P dlel Aferd TIAT T IIed ‘TFells Vo &

o &, faf@d o=t & & Sila-a7/ & F@dr &/ 82

(1). TS VT T 3UAT HasT AT & AT Sef & 3cuesT & FAT o1 Goham &l
(2). FellS QA T 3G Hshle & HS Gcels A 3 & TG (Reereie)
& & & fRar ST gt g

(3). TS VA Shad Afcler S33ieFaEs dur Hfeadd AFaEs F g1 gidr ¢
3R =@ o AWed (clieae) d<d =18l gid|

ARy fQU 91T e @1 JANT X FE 3R giAT|

A.13R2
B. el 2
C.13R3
D. ohddl 3

Answer ||| A

Solution ||| Fly ash prepared from coal gets released from thermal power
stations which are rich in oxides and are used as raw material for various
industries. Presently, fly ash applied in preparing bricks is used as a
building material, so statement 1 is correct. Fly ash serves as good raw
material for manufacturing of construction material such as blended
cement, mosaic tiles and hollow blocks, so statement 2 is correct. Fly ash
contains traces of heavy metals and substances like arsenic, beryllium,
cadmium, barium, chromium, copper, lead, mercury, molybdenum,
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nickel, radium, selenium, thorium, uranium, vanadium and zinc that are
harmful to health. Statement 3 is incorrect which eliminates options C and
D. We see that as both statements 1 and 2 are correct so correct option is
A.

45 .farfafad & @ e, gaterm fawo] & geahiq & fAT grer & & TAR A
TR Jeeld §HT?

A. BREr 3R SiseT

B. [l T frsiet 3 smgaian
C. fopferdiea 3R arq3m = =i
D. S#eT, &< 3R gRes

Answer ||| B

Solution ||| The Ebola virus emerges in year 2013 across the region of
West Africa which results in significant loss of life and social disruption. Its
outbreak began in Guinea in December 2013 and spread to Liberia and
Sierra Leone. With this, option B is correct.

46 e TATIE & FoedT H, Aaff@a 7 @ sl9-ar / & a7 Tar ¢ / 872
(1). Jore 3fafTs, ‘afses Fadr & {wiRer w raiRa

(2). e Tcamrg H, NS o g1 Fof olleT T 3YITET el I YT b
(3). GISAA FHR/NA HTTHA & Y ol T 3YIRT el 1 91 fha|
A T 91T e @ g FE 3 g

A. &hae 1

B. shael 1 3R 2
C. %deT 2 3R 3
D.1,2 3R 3

Answer ||| B

Solution ||| Rowlatt Act passed on recommendations of Rowlatt
Committee or Sedition Committee which was appointed by British Empire
in India to consider political violence and terrorism, so statement 1 is
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correct. Statement 2 is also correct as Rowlatt Satyagraha was organised
by Gandhiji who uses Home Rule. The Simon Commission suggested
future constitutional reforms in India which arrives in Bombay on 3rd
February 1928. Statement 3 which is Demonstrations against the Simon
Commission coincided with the Rowlatt Satyagraha, is incorrect as the
commission in India will examine effects and operations of constitutional
reforms.

47 famfafad goat | fTaR fifew:
1. | ot |+ | 7 wew vEifEa
3. | §=h7 ;| mERe wefeai

3UYFd H O HlT-T/A J7A TE FHAT g/e?

A. Faa 1

B. %had 2 3R 3
C. %der 1 3iR 3
D. 1,233

Answer ||| A

Solution ||| In this question we have to compare Pilgrim places with their
location. Statement 1 shows that Srisailam is a town having shrine of Lord
Mallikarjuna that is located on top of Nallamala Hills, so this is correct.
Statement 2 describes Omkareshwar pilgrimage which is located on
Mandhata hills in Madhya Pradesh and not on Satmala Hills, so this is
incorrect. This statement eliminates option B and D. Statement 3
describes about pilgrimage place Pushkar that is a shrine of Lord Bhrama
located in Ajmer district on Arravali hills and not on Mahadeo Hills as this
hill in in Madhya Pradesh, so this is not correct. This statement eliminates
option B, C and D, hence only option A is correct.

48.TaYad FTAURIST (SheIRTST HI3cT-dc) & YAHAY Ydlg HT AT had
gl 872
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A. 9t T 39e 3HaT W Ui

B. ar favacha RT3t &1 AT (Feaoid)

C. STol &I oIqular H 3o

D. lAYad-g & U WRIAHAUSH AWl (o 3 ) HT glell

Answer ||| B

Solution ||| The Equatorial Counter Current occur near the equator
describes eastward moving wind current which is 10-15m deep that is
driven by distinct surface wind pattern in tropics. It is found that strong
westward winds result in westward surface flow which occurs several
hundred kilometres north of equator. Option B is correct as equatorial
counter-current phenomenon near the equator shows eastward flow of
oceanic water that opposes and flanked by westward currents. Option A is
incorrect as eastward flow of the equatorial counter-current is not
concerning with Earth rotation on its axis as it is an imaginary line which
is passed through North and South Poles. Option C is also not related as
Salinity is amount of salts in water and is nothing to concern with ocean
current. Occurrence of the belt of calm near equator is a region where
trade winds from north and south converges and creates a zone with lack
of wind. This option is also not related with eastward flow of the
equatorial counter-current.

49.9<1 1 3RIT Td HYe FAT (FRP) A fAe=faf@d & @ aled argafed
HLAT / HLAT 872

A. 318 AT H AT wfafa

B. FY oreTd 3R hred 3T

C. 3 #ATerT & fauore AR fadieror fcemer
D. $¥ 3eure favorer afafa

Answer ||| A

Solution ||| Cabinet Committee on approval from Economic Affairs
approves Fair and Remunerative price of sugarcane that needs to be paid
by sugar mills during particular sugar season which is fixed for 1 quintal.
Once the approval is received their result in guaranteed price for cane
growers, hence option A is correct. In option B, Commission for
Agricultural Costs and Prices will recommend fair and remunerative prices
as per inter-crop price parity, inflation and return for farmers, so it is
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incorrect. Option C is incorrect as Directorate of Marketing and Inspection
will cater all agricultural and allied produce marketing activities in the
country which will save the interest of producers, sellers and consumers.
Agricultural produce market committee save farmers from money lenders
to sell their produce at required rates and further monitors food produce
to be sold through market yard and not directly to money lenders, so this
option is not correct.

50.9%h d Ud UTehicieh HHTUAH & T & foIv HecRISET HE (Seeileiel
AT BN Fooldelel 3Hh 7R Us glel RERIS) (IUCN) T dog TIftTelid Td
FIETfdold Sl ThelTeed THEMST: & HeaRTSCIT AR TR heaQlel (FhoaQlel 3T
LA ¢ A Uegols TURfST 3% dges Wil Us aiRkT) (CITES) & Tegal
H, Pefof@a st & o Sa-ava T 8872

(1). IUCN @ged IS¢ (UN) T Teh 3aT § T CITES ThRT & ST HecRTedy
R gl

(2). IUCN, 9rshfcieh TTeroT & 9§k Taetiel & [T, oy s & gorl &
RS Terar ¥

(3). CITES 3o Il aX Y T { IEeUH & SN $HH A gV &, Afhed Tg
FeaeeT TS ARt &1 T g ol B

A feT AT FHe 1 TN w FE IR gEAT|

A. Fae 1

B. %had 2 3R 3
C. %der 1 31X 3
D.1,23k3

Answer ||| B

Solution ||| IUCN is not an organ of United Nations but has observer and
consultative status at United Nations, hence statement 1 is incorrect
which eliminates option A, C and D. CITES is an international treaty which
has set resolution that was adopted by members of International Union
for Conservation of Nature in 1963 to save endangered plants and
animals. Different projects across the globe are running which works on
conservation of natural environment, so statement 2 is correct. From the
above explanation we see that as statements 2 and 3 are correct, so we
see that option C is correct.
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51.% #H FATSelslell ATl & e/ 3UTIT ST 4T T &1 Hehell
g?

(1). At AR garsial (Aserer-fhiaaer Agwsitiasra) &1 A
A yeRicdel (NTAHREA) 87 Hehell Bl

(2). AT T AT F TG & ool gl

(3). 7 ST (I3sareR) H aArsee Fr Hemera () & dwar g1

ARy fQU 91T e HT gANT X TS IR gAT|

A. Faer 1 3k 3
B. &adl 2

C. dhad 2 3k 3
D. 1,233

Answer ||| C

Solution ||| To answer the question, we need to analyse above
statements. Considering statement 1, which describes that having more
nitrogen in fertilizer, there result in proliferation of nitrogen, which causes
less amounts of micro-organisms in the field. With one dose of fertilizer,
there result in extra nitrogen in farms, so this shows that it is incorrect
which eliminates options A and D. Statement 2 explains that if use of
nitrogen fertilizer is in excess, then acidity in soil tends to increase, which
is correct. Statement 3 describes that nitrogen fertilizer on breaking into
nitrates will result in emissions of nitrous oxides from soil that travels
through soil. As being water-soluble, it is available in groundwater
causing certain effects, hence it is correct. We see that since both
statements 2 and 3 are correct so option C is correct.

52T AqYdded UTaSald-HRd (ARTel ST Hr3seA-sf3am) (NIF) & R &
fTfef@a & & Sla-and sa9 T@Er g/8?

(1). NIF, FedlT THR & 3efed faarar 3R gzt fasmer $r v Farga dedr
gl

(2). NIF, 37cTed 3ot facel denfaeh Teumsit & Ggaler @ oRd & 999
(A F=fier FEUT3MT H 3cTedd SeaAcd ATATAD ITHUTT P Holqd el T
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qgel ©
A feU aTT FHe 1 JANT A FE IR gAT|

A. &ad 1

B. ¥ 2

C. 13k 2gmMar
D.adr13iRkagr2

Answer ||| B

Solution ||| National Innovation Foundation is an organisation having
institutional support in areas of scouting, spawning, sustaining and scaling
grassroots across country. IUCN observed pragmatic solutions to
environment which focus on saving and conserving nature using nature
based solutions to global challenges such as climate, food and
development. IUCN supports scientific research which takes care of field
projects by bringing NGOs, UN and Companies closer to design policies
and laws, so this makes statement 2 correct. Statement 1 is incorrect as
IUCN is not an organ of United Nations which is observer and consultative
status of United Nations. CITES is Convention on International Trade in
Endangered Species of Wild Fauna and Flora serves as international
agreement between governments to make sure about international trade
specimens of wild animals and plants, hence statement 3 is correct. With
this, since both statements 2 and 3 are correct, so option B is correct.

53.AFATIET & & HIA-AT Teh #AeTel UTeh SHMAT 3He]aT § o T8 Teh Cold el
(Feilfean) gereafd & gord (EU) glel o HROT HHCY St fATALAT &I Ferar aar g2

A. TR TOTRT AAAST TTeh

B. ShSeel T3 A2reTel UTeh
C. Hhadlcd HT=T ARTeldel UTch
D. godeqR #AeTel TTeh

Answer ||| B

Solution ||| Bhitarkanika National Park is rich, lush green lively eco-
system in estuarine region of Brahmani Baitarani which lies in-between
indirect creeks and rivers with largest mangrove eco-system & wetland
with diverse fauna, so this not matched with questions as it doesn’t
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having floating vegetation. Keibul Lamjao National Park is only floating
park in North East India that serves characterized floating decomposed
plant, so this is correct. Keoladeo National Park is wintering areas for
variety of species having birds and Siberian crane, so it is incorrect as
again it is not having floating vegetation. Sultanpur National Park is
important for migratory and resident birds which also has no floating
vegetation, hence is also incorrect.

54.'376 el 3N & Hahish (S5 3 TC HN FsEclal) A eafaf@a & &
fraer gaIfe Agca fear =r &7

A. T 3cUlea

B. faegd 3cure

C. 333& 3cUleA

D. s&9Td 3c4lced

Answer ||| B

Solution ||| There are Eight Core Industries such as Coal, Crude oil,
Natural gas, Refinery Products, Fertilizers, Steel, Cement and Electricity.
Consider the percentage weighted index of Eight Core Industries from the
table:

Coal (4.38%) Crude oil (5.22%) Natural gas (1.71%) Refinery (5.94%)

Fertilizers (1.25%) Steel (6.68%) Cement (2.41%) Electricity (10.32%)

From the above table it seems that the weighted index of Electricity
generation is maximum, so option B is correct.

55.35T &1 dAlfd & ¢ deal & aR A AFAfaf@d 2« W faar fifae:
(1). ¥ T A & AEHAITAR-3TF Nhad HI qrEdT Fd &l

(2). 3T @l H HedfdSe U] Hichdl #ATATAT GART Jadelld (TehifiTad)
oTel &

3UAFT HUAT A F HlA-ANT TET 8/ 82

A. Fhad 1
B. shddl 2
C. 1 3R 2 =t
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D.adr13iRk agr2

Answer ||| C

Solution ||| In Article 12, Directive principles are guidelines issued by
constitution to state which are applied at the time of designing laws,
policies, ordinances and several other policies. The idea of such policies is
to introduce socio-economic democracy in a state in order to create
welfare state. Further Article 39 describes state to go all out to have
ample way of livelihood, pay for similar work, safeguard the citizens etc.
The Directive principles are not enforceable in court of law, as it is only
Fundamental Rights which gets practiced in a state.

56.8R & Uedl &l [@efafld & @ Fla-ar v oA, gad @i 3R q&d
qfeasT I & 5T FAr g7

A. 31 TH

B. RO 92 3R Ioredr
C. 38H 3R ORI

D. 31FUTTe Fe?r AR ISR

Answer ||| D
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AMMU & KASHMI
HIMACHAL Eastern most State of
puk PRADESH India

YANAM BAY OF BENGAL
(Pondicherry)

0 o
o
LAXSHADIEEP : Vb mpior P
{AD¥ Madras) >~ PONDICHERRY =il
ﬁ\ (Puduchchery)
TAMILNAD KARAIKAL ANDAMAN & NICOBAR ISLANDS
. (Poadicharry) .
.-
. Thiruvananthaparamy
Solution ||| ¢

In the map shown we see that Assam is not the easternmost state of
India as after this, Arunachal Pradesh exists while from the map,
Rajasthan is not the exact westernmost states, but from the map it is
Gujarat, so this eliminates options A, B and C. So option D is correct as
Arunachal Pradesh is easternmost point of Indian mainland while Gujarat
is westernmost point of India mainland.

57.3chieaiy (cifiemer) 3ratiel # gfatoh sreaifes iR gfEor-qdl wered arEt #

Tohdld 3ceel oTel glcT| HHT HET FHROT AT §7?

A. THA I3 & ard e @i §

B. 3fed: 3SChTHT A 87 (SeX T Foeaord ) e & aar &
C. PN FoT Heqeet goeT Belr &

D. 3o &t & HfA Alsg A& @

Answer ||| A

Solution ||| In South Atlantic and South Eastern Pacific regions located in
tropical latitudes, cyclone will not take place as in these regions the cold
current flow which helps in lowering of sea temperature. To have a
cyclone, the temperature of sea should be minimum 270 Celsius. We see
that option B is incorrect as formation of ITCZ is not needed to have
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cyclones. Option C is incorrect as Coriolis force results as weak force that
is present in region having 0 to 5 degrees either North or South latitudes.
Option D is invalid as land cuts moisture from cyclone, so correct option is
A.

58.fhdT &2r &I, T & GDP o 37qard H el FAT FRAd HIch &7
(1). 3% Fefa-ax el g

(2). TSI 3 T A AIfFEgen (TFeheaer) faaron)

A feT AT FHe H FANT F FE IR gEAT|

A. Faa 1

B. &had 2

C. 13k 2 gt
D.adar1 ik agr?2

Answer ||| B

Solution ||| Statement 1 describes, slow economic growth rate that
happens due to collection of low tax which results in lowering of GDP
without prior statistics on economic features. Lowering of economic
growth rates is not relevance to less tax GDP ratio, so it is incorrect, as it
eliminates option A and C. Statement 2 describes change in taxes due to
change in GDP having tax buoyancy which overstress tax evasion without
well-organized tax collection standards. Further fixed low tax GDP ratio
does not lower TAX GDP ratio for particular time, hence shrinking tax GDP
ratio is for short term fact, hence it is correct. With this we see that
option B is correct, while all remaining options are false.

59.8Tel & H TATARI H 37S ‘BIcTeloll 3CHIYUT (HIeTeloll fSFerer) Hrafaiad
H O fhas Al § gFafead g7?

A. ASEAN

B. BRICS

C. OECD
D. WTO

Answer ||| B
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Solution ||| Fortaleza Brazil was a Summit held at Brazil on 15th July
2014 where leaders of Federative Republic of Brazil, Russia, Republic of
India, People’s Republic of China and Republic of South Africa meet for
6th BRICS Summit to inaugurate 2nd BRICS Summits Cycle for Inclusive
Growth in apprehension with macroeconomic and social policies which
takes care of different confront to humanity just for growth, protection
and preservation. We see that this description clearly shows that BRICS
mentioned in option B which is correct while all other options are
incorrect.

60.dlcgd faa 3T & Teed F, AT FUT 7 ¥ Fia-ava g &/ &2
(1). 387 Feirg Ao qat 7 T F e arer frear 32 wfaed &
JaT 42 wfaerd & & &1

(2). 38 @AY AR W Qe ¥ 9 (VFeT-FATATHeh) Ieferat & Frafeerd
eIl &1 81

A feT AT FHe H FANT F FE IR JEAT|

A. Fad 1

B. %had 2

C. 13k 2 g=r
D.Aar13dikaar2

Answer ||| A

Solution ||| The idea of 14t Finance Commission is that every states
should involve in complete priority of tax revenues that appears around
46% against 33% which serves as high change in respect to devolution of
percentage. Further it is seen that total devolutions in financial year
2014-15 from relevant states increases to 48% in financial year 2015-16.
With this, it seems that only statement 1 is correct while statement 2 is
incorrect as it is not relevance to any recommendation for grant. Since
statement 2 is incorrect, it eliminates option B, C and D, so option A is
correct.

61. ' TUTHAT FTAYT Aolar AeaAtai@d & & fhas fow yrest &1 18 §2

A. TS ETT AT 3M98Thd HH sATS-6I T ITEE EEUT Yl it & fovw
B. Uos &3 & AR & TaI-HeIdr FHgl H WcdIed el & o
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C. 3 H I HATAAT (TS RIT SGeFololed) I UIcHIBd A & fow
D. 34ifaeh (ATfoleTellges) AT @I fad Herddr Yerel el & o

Answer ||| C

Solution ||| Pradhan mantri Jan Dhan Yojana is a full fledge financial
programme started by government that explains that every individual
should have a bank account that will include life insurance of account. The
idea of Pradhan Mantri Jan Dhan Yojana is to encourage financial inclusion
in nation, so this seems that option C is correct. Options A, B and D are
incorrect as Pradhan Mantri Jan Dhan Yojana is not related to any housing
loan or promotion of womens group and not involved in financial help to
lower communities.

62.[AFATATET & & foheT RISl & HRAT &Y Hdael (IRS) 39 &1 AT
T sirar &2

(1). B8 P 3UST HI HTeholed

(2). HiF ST (A3dleR) TATHAT BT FATA-TALROT

(3). @fAs &1 3=as&or

(4). TEIR

(5). AR AT

A feT aTT FHe H JANT w FE IR gEAT|

A. Faer 1, 2 31X 3
B. had 4 3R 5
C. %aer 1 3R 2
D.1,2,3,43R5

Answer ||| A

Solution ||| Indian Remote Sensing satellite is basically used to study
national economy in areas of agriculture, water resources, forestry,
ecology, geology, water sheds, marine fisheries and coastal management.
With this we see that 1, 2 and 3 are correct, so option A is correct. Indian
Remote Sensing satellite is not applied in telecommunications or in traffic
studies as for these purposes geo-stationary satellite is used, so 4 and 5
are incorrect which eliminates option B and D.
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63.HGMIRT 3N FHAGT # SAR-HETT Tehdreh/fheah HROT B/ Bl 82
(1). & &1 & o

(2). IegAT HT T&EAT Tl

(3). 9T & HIHAT Tl

ARy fQU 91T e HT gANT X T 3R giAT|

A. Fad 1

B. ohdel 2 3R 3
C. daa 1 3k 3
D. 1,233

Answer ||| D

Solution ||| Tides are basically alternate rising and falling of sea levels
that are caused mainly by gravitational pull of Moon and Sun and
secondly by rotation of Earth. In case of gravitational Earth-Moon system,
gravity behaves as rope which pulls two bodies together while centrifugal
force is applied to keeps two bodies apart. As centrifugal force is more
than gravitational pull of the Moon, so the ocean water on other side of
Earth protuberance outward. Hence we see that of the above options are
correct, hence option D is correct.

64.9Rd & TF AT & &, TR aer Shfad gail i S5t 1 efaded W 3o
SAURT & IN-9R Feo Yol # FTedRd X o &1 -9 T IRT §, I
qel AR 3118 AT gid od &1 F 3= Sifdd 518 ol @el I Sl &7

A. AgTI
B. fRATIoT Ueer

C. SIREUs
D.aﬁlﬂc—ﬂg

Answer ||| A

Solution ||| Living root bridges are type of tree shaping handmade aerial
roots of living banyan trees which are made of massive thick roots that
are intermingled to form a bridge and are mostly found in state of
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Meghalaya. Living root bridges can be double-decker or single-decker root
bridges which are exception in world. This clearly shows that option A is
correct while all three options B, C and D are incorrect.

65.AAT & ¥ 5T 3eeideT & FRUT ARAT TSET FiAT FT ST g3m
forash aRUTATIRY ‘FRA g AR TRA ger’ HT 3637 gam?

A. Taceft 3Tecrelet

B. IRd BIST 3MTeglcled

C. 3 gIT 3Teareled

D. Gfaerar 31aar Aleglels

Answer ||| A

Solution ||| The movement responsible for splitting in Indian National
Congress in moderates and extremists is Surat Split which is called as
separation of congress party into two groups of moderates and extremists
at surat session of congress held in 26th December 1907. At that time
Swadeshi Movement was in power which laid its contribution for
protesting against partition of Bengal. With this option A is correct.
Options B, C and D are incorrect as moderates and extremists re-united in
Lucknow session in 1916 which was earlier Non-cooperation/Quit
India/Civil Disobedience Movements.

66.'8791T TEINT & T Ree AR RA ¥9 (333 3 RA taf@ues »R
{7l HITRAA (IOR-ARC) & FegHl #H, fAraAfaf@d Fual W faar ffaw:
(1). 3HHT FAAT 3o BT &7 H WIAGT Sahcll T Hedr3tt 3R der sifrcema
(3T RAerd) @1 gHeaA3T & gfafhareawq #r 7% ¢

(2). I8 T U AN § S ShaeT AT TIET ] B

3T FUAT A HiT-a F W8/ 82

A. &hae 1

B. shad 2

C. 13 2=t
D.Aaar13ikaar2
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Answer ||| D

Solution ||| Indian Ocean Rim Initiative, an organisation started in
Mauritius on 6th March 1995 comprising of coastal states which are
bordering Indian Ocean. The idea of this organisation is to handled
Maritime Safety & Security, Trade & Investment Facilitation, Fisheries
Management, Disaster Risk Management, Activities in areas of Academic,
Science & Technology, Exchange of Tourism & Cultural and Gender
empowerment. With this we see that Indian Ocean Rim Association for
Regional Cooperation was set up not to look on piracy and accidents of oil
spills, neither meant for maritime security only, so both statements 1 and
2 are incorrect. This eliminates options A, b and ¢, and hence d is correct.

67 .FrIfaf@d Fyal W AR Hiiew:

(1). ¥ ¥ 30 ° N AR 60 © S 377l & & agel arell gard Ig3iT gard
(AFCTeANST) FEerchl

(2). 9RA & IR-IRIAT & F AAhrelled aol = arell A a1 Higadr (FigE
TIX AGS) IPIHT §a13il & &7 B

3UYFd HYUAl A @ SlT-AVE T 8/ 82

A. Faa 1

B. &had 2

C. 13k 2=t
D.Adar13diRaar2

Answer ||| B

Solution ||| Westerlies wind flow between 30 and 60 degrees North
latitude to 30 and 60 degrees South latitude blowing from high pressure
area in the horse latitude towards the pole. Now we will analyse both
statement 1 and 2, so we see that statement 1 is incorrect as Westerlies
wind flow does not blows between 30 degree North latitude and 60
degree South latitude as mentioned in the statement . this eliminates
options A, C and D. Statement 2 is correct which says moist air masses
cause winter rams in North-Western region of India since western cyclonic
disturbances is a winter month phenomena which are carried by westerly
flow from Mediterranean region that influence north and north-western
weathering conditions in the regions of India which are nhon-monsoonal
precipitation driven by Westerlies.
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68.FHMRT & U 37 arelm ‘ardo 111 (Basel I1I) @HslAr a1 @l esal &
‘arae 111

A. ST fafaerar & aeor 3R aRefir (Ecaed) 3991 & T TS SREaar
ApRd e & 9T FaT §

B. dfFer &t &, fad 3R 3nfds carat &1 areaT e & Iz’ F 3edd Fe
auT NRA Jeetid FH 3eeTdl F HT TATH T ¢

C. MTET3H I ScHoleT P HH Flel dhl T Al § Toho Fhehffa gai T
398TThc HRY &IST QT &

D. Tafaa gt F el et & MR & HeaRor 1 JIrF Far § afr
Tl & T glel aTel FARIF[IRITST o AT W FlieRigd IHIAT h Fhrar
N Hh|

Answer ||| B

Solution ||| Basel III Accord is global, voluntary regulatory framework
have certain reform measures that are developed by Basel Committee in
2010-11 with an idea to supervise Banking sector in terms of improving
risk management, strengthen banks’ transparency and disclosures and
capabilities to digest shocks appeared from financial and economic stress.
This confirms that option B is correct. Option A is incorrect as idea of
Basel IIT Accord is not to develop national strategies for conservation and
sustainable use of biological diversity. Option C is incorrect as idea of
Basel III Accord is related to finance and banking and not reduce
greenhouse gas emissions. Option D is incorrect as Basel III Accord is not
related to chemical technology transfer of chlorofluorocarbons with
harmless chemicals.

69.HHPIT-IEM TEAT H, S T: A & Ugol g, [AeaAiai@d H F HleT-A1 T 2o
gfaeei 8T &/ g7

(1). SR

(2). FFaf3aT

(3). &=

(4). AR

(5). USels

A feT AT FHe F FANT F FE IR JEAT|
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A. Faa 1
B.2,33R4
C.13R3
D.1,23ik5

Answer ||| C

Solution ||| Mekong Ganga Cooperation established on 10th November
2000 at First Ministerial Meeting in Vientiane with an idea to expand
cooperation in tourism, culture, education, and transportation among
India and countries of Mekong region such as Cambodia, Laos, Myanmar,
Vietnam and Thailand. This statement shows that option C is correct as
Bangladesh and China are not part of Mekong Ganga Cooperation.

70.9fw SonfaaRer 3gHie AR &1 e efaf@d & & fhas rehe e
IR §?

A. Tled FReT Ud Al Aaf=aa, 2006

B. AT & Ao 33Ul (IFSediavor 3R @xefon) ifafaas (Samnfieea
$TSeherg 30T 38 (ITSELeT Us Hiearr) Tshe), 1999

C. 9107 (T&T0T) A, 1986

D. =g Sitg (&eton) fafaas, 1972

Answer ||| C

Solution ||| Genetic Engineering Appraisal Committee is a biotech
regulatory committee that functions as legislative body under
Environment Protection Act 1986 of Ministry of Environment & Forestry
that engaged with rules of Manufacturing, Import, Export, Storage of
Hazardous Micro organisms and Genetically Engineered Organisms. The
main idea of this body is to approve proposals related to release of
genetically engineered organisms and products in environment. With
above statements, option C is correct. Options A, B and D are incorrect as
Genetic Engineering Appraisal Committee does not concern with Food
Safety Act, Geographical Indications of Goods Act 1999 and Wildlife
Protection Act 1972.
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71.Ffof@d sl W R fifew:

(1). caRa A arer FRHHA 1996-97 H IS THAET DI FOT TERIAT 3Tclsd]
A o ToIT 3RFH fohar I ar |

(2). TS &1F fahe HRHH 1974-75 F STA-3UANT S&IAT & faohrd & v &
fopar arar a|

39S HUAT A F HlT-AU/T TE &/ 82

A. &haedl 1

B. shadl 2

C. 1 3R 2 gt
D.adar13iRk agr2

Answer ||| B

Solution ||| Consider statement 1, which describes “Accelerated Irrigation
Benefits Programme was launched during 1996-97 to provide loan
assistance to poor farmers” is incorrect such programme gives financial
aid to speed up completion of uncompleted Major/Medium Irrigation which
will carry Extension, Renovation and Modernization of irrigation projects
hence it will not provide loan assistance to poor farmers. Statement 2
describes "Command Area Development Programme was launched in
1974-75 for the development of water-use efficiency” which is correct as
this programme improves utilization of irrigation potential and optimizing
agricultural productivity along with production from irrigated areas.

72 farafafRia & & Fla aRa & dfaura o afFReqor (FEeifsaa) g2

A. HIRT T TSeafa
B. IR T TTAHAT
C. olier gt =1 gfare

D. ARd ol 3=ddH Tl

Answer ||| D

Solution ||| Supreme Court of India is the highest court of appeal in civil
and criminal cases which hear appeals against decisions of High Courts.
Its Judges serves as Guardian of constitution which takes oath in order to
support constitution and its laws. Hence Supreme Court and High Courts
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serves as custodian of constitution, so option D is correct. Option A is also
correct since President also serves as custodian of constitution as he/she
saves and defends constitution and its laws, hence both A and D are
correct.

73.99 H TR (AT Taeide) & Heol H, Helaiad Y W aur
FIfarT:

(1). TorEa feamer, THe, # & [T S alel degig §ofc 1 AR A & fav
IRERT ¥

(2). HRA & TG & WITUSRUT (HTRISAUT & o1 g 7 HRd & dfaa Ay
O AT AT ST el

(3). oo o @r ¥ fhU e arel 8 afaaRon (Besdeca) & fov off sima $r
THE_ & WITeuT I 3MaeTehdr gidr gl

3odad Fusl F § FT-and @l ¥ 2

A. Faer 1 3k 2
B. shdel 2 3R 3
C. 3da 2

D. 1,233

Answer ||| C

Solution ||| To analyse above question we need to study all three
statements. As per the question, statement 1 is incorrect as for preparing
the budget to be presented in Parliament, Department of Economic Affairs
is responsible for preparation of Union Budget and not the Revenue
Department. Since the Budget division is part of Economic Affairs, so
Finance Secretary will coordinate for designing and implementation of
Budget process which eliminates option A, B and D. It is noted that past
authorization is needed in order to withdraw any amount from
Consolidated Fund of India, hence statement 2 is incorrect. Statement 3
is incorrect as Indian Public Account can be operated by executive action
where there will be no authorization needed from Parliament; hence this
eliminates option B and D.

74.9R%d & @iaure & diudr 3 3R S8 I & 3udey Hefaiad A @
frafaT fev o g2
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A. ITERIA STl & Bdl & #XeTor & fau

B. T3l & &g WABT & FURT & fow

C. argar &I erfeddr, IRIYUSRT 3R 3erdcar & @uRor & fov
D. F3fr A Tt & gar & WaTor & fou

Answer ||| A

Solution ||| The Fifth Schedule of Indian Constitution relates to protection
of cultural distinctiveness of Tribals in states of Andhra Pradesh,
Jharkhand, Gujarat, Himachal Pradesh, Maharashtra, Madhya Pradesh,
Chattisgarh, Orissa and Rajasthan, while Sixth Schedule relates to the
provisions of administering tribal areas in States of Assam, Meghalaya,
Tripura and Mizoram, hence both Fifth Schedule and Sixth Schedule will
protect the interest of Scheduled Tribes in respective scheduled areas in
states, so option A is correct. Option C is incorrect as it excludes fifth and
sixth schedule areas from Panchayati Raj system so that tribal customs,
religious laws and political institutions will not interfere.

75.0Rd H SEATA 3cUTGel 36T Hl fFafaiad # & fhas 3mard dr e
gieir &7

A. RT

B. T BIThe (T HITHhe)
C. PIhBRT (PIfhaT) HITeT
D. 3uded Tef

Answer ||| C

Solution ||| Saltpetre are nitrogen based compounds and minerals which
are primarily used in fertilizers, tree stump removal, rocket propellants
and fireworks and not in production of steel, hence option A is incorrect.
rock phosphate has high amounts of phosphate bearing minerals which is
used to make organic phosphate fertilizers and not in case of production
of steel, so option B is also incorrect. Coking coal is a metallurgic coal
which serves as essential ingredient in steel production which gets heated
in coke oven that releases impurities to produce coke, so option C is
correct. Option D is incorrect as both options A and B are false, while only
option C is correct.
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76.9Rd FITai@d H & e/ Teg §?

(1). vfRr-emea 3 AT (CRE-URAhE shaifAs HIHTRAA)

(2). GfEIoT-qd RIS TSt 1 HaTosT (THITRITAA 3T AFY-5EC TRITA AA274)
(3). qdl TR RIear FAee ($¥¢ TR |ffc)

AR fQU 91T e HT JANT X T 3R gAT|

A. Faer 1 3R 2

B. %hae 3

C.1,23R3

D. AR 387 & fohdl &1 deeg #1861 ¢

Answer ||| B

Solution ||| Statement 1 is incorrect as India is not a member of APEC
Asia-Pacific Economic Cooperation, because India doesn't border the
pacific and not allowing APEC to give Western Pacific bias. Statement 2 is
also incorrect as India is not a member of Association of Southeast Asian
Nations; ASEAN is a political and economic organisation of ten Southeast
Asian countries such as Indonesia, Malaysia, the Philippines, Singapore,
and Thailand. Statement 3 is correct as India is a member of East Asia
Summit which is a forum held annually by leaders of 16 countries in East
Asian region.

77 .\ STOThIeeT 8 AU BR EFeATd BRIE olg&hed (BioCarbon Fund
Initiative for Sustainable Forest Landscapes)’ &l Jaetel HeaAfoii@d # 4
hlel HIAT 872

A. TR e d%

B. 3ecRISET HaT &I

C. HIF ¢ YATAROT HrshA
D. fava d«

Answer ||| D

Solution ||| BioCarbon Fund for Sustainable Forest Landscapes is
multilateral fund which gets collected from donations by Government and
are handled by World Bank. This fund is obtained in order to give
awareness to lower greenhouse gas emissions which originates from
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deforestation, forest degradation and from sustainable agriculture. This
statement correctly describes option D.

78.9AT sfagr & ey #H, Aafaf@d & ¥ FiF-a/a grFedr gaear &1/ &
sifAat o &/ 8?2

(1). 3cTed TAFA head JToTeilicieh FAT AR 3cTed el Tedl 37T T
STl fcleh el

(2). {fA & AT qUT FEMACT TR IR FeATHAS EIAT AT 36

(3). Aed dUT 38 OUfd & ST TAHA-GRT Toae T Folol]

AR fQU 91T e T JANT X T 3R giAT|

A. Faer 1 3R 2
B. %had 2 3R 3
C. &ad 3

D. 1,233

Answer ||| B

Solution ||| Feudalism was applicable early and central Middle Ages that
structure the society with relationships by getting land in exchange for
service or labour. It originates as result of decentralization of empire. To
answer such question you have to see for all the three statements.
Statement 1 which describes “A very strong centralized political authority
and a very weak provincial or local political authority” is incorrect as in
case of Feudalism, there appears to be a weak central authority as it
applies to politically decentralised as monarch power is restricted of local
lords hence it applies to any state having collection of deemed regions.
This eliminates option A and D. Statement 2 which says "Emergence of
administrative structure based on control and possession of land” and
statement 3 which describes “Creation of lord-vassal relationship between
the feudal lord and his overlord” are correct as vassal results when
someone is pledging political commitment and gives certain services to
lord which can be in domain of military, political and financial and over
above lord enjoys full control on land and take part in service of different
monarch thereby framing a relationship among monarch and lord.

79.9Rd & hell R Qdldicas sfdgR & deast #, Pefaf@a & @ v v
HT 9 ugel AT foRar s ar?
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A. e &g Tolarrer #fex
B. titel [&ua Aot grel

C. HgrafaqH EUT Aefehd TARS
D. 3¢k fua =g Afd

Answer ||| B

Solution ||| Lingaraja Temple at Bhubaneswar was created during 6th
century 615 to 657 CE or around 11th AD. Rock-cut Elephant at Dhauli is
the earliest Buddhist sculpture of Odisha constructed by Ashoka in 272-
231 BC which carries sculpted elephant faces east . Rock-cut Monuments
at Mahabalipuram was found by Pallava Mahendravarman-I in 600-630 or
6th century AD. Varaha Image at Udayagiri in Madhya Pradesh, India was
the personal temple of King Chandra Gupta II who ruled from 376-415
C.E around 5th century AD. With this we see that Rock-cut Elephant at
Dhauli which is option B is the oldest art and archaeological structure in
the history of India, so it is correct.

80.VFIEET SeTAAAT FAT 87

A. TEgcEl & eRONTIAT T Age & U TYFd ASC HT Ueh JTARIOT

B. faegeardt #Aed 3fUHR 3i=arel

C. 3 A olleit T #eg & T e IR-TART TAfTos Hirodd

D. gegr & fave g¥ &=t A Rfehcar smsfeAsdnt H @ R & v td -
TR HTHHIOT

Answer ||| B

Solution ||| Amnesty International, a hon-governmental organisation is
global movement of 7.5 million people across many countries whose focus
is to end abusing of human rights. It is a worldwide campaigning
movement which promotes protections of human rights. This confirms
option B as correct. Option A is incorrect as UNHCR is an agency of United
Nations which helps refugees of civil wars nor Amnesty International.
Option D is incorrect as Federal Emergency Management Agency an inter-
governmental agency which caters medical emergencies in war ravaged
regions.
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81.AFATAET Rl Urehf # @ vy U T SToray 3svrhiestia &
3qrsur, efrarsoT 3R 3mdRfes g Radfdd gdr &7

A. FTTTET ATl UTh
B. FgIcdr #A2lAel UTeh

C. AT afer iAo 9Th
D. ATHGHT ATl GTeh

Answer ||| D

Solution ||| In the Namdapha National Park, located in Arunachal
Pradesh, the climate varies from tropical to subtropical, temperate and
arctic. It is tropical and subtropical in the southern region while it is of
arctic type in the northern part of the park. The Khangchendzonga
National Park lies in Sikkim, in the state of West Bengal has many
ecosystems within itself from sub-tropical to arctic and subtropical and
East-Himalayan to Alpine. Nanda Devi National Park is a national park
situated around the peak of Nanda Devi (7816 m) in the state of
Uttarakhand

82.%fSeic e & Tt &, Refaf@d & ¥ Fla-97 T FUT T& ¢/ 87
(1). 38 Teh T TR & forw FAwier &

(2). 387 AR TdT &1 AfFaar &1 AR fhar

(3). 881 ICS & 3R 318« 9RAA & faw 3usey fhar)

fo QU 917 g &1 g R F@Er 3R I

A. Fae 1
B.2 33
C.13R3
D. ®IS &l

Answer ||| A

Solution ||| In a proposal made on May 1946, the Cabinet Mission
announces that a country should have Federal government which contains
Britisher and Indian in India, in order to cater problems related to
Defence, communication, foreign affairs and international trade. This
shows that statement 1 is correct which eliminates option D. Statement 2
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is incorrect as it was not the job of Cabinet mission to enlarge to power of
Indian court, but such can be implemented by Supreme Court itself. This
eliminates option B. Statement 3 is incorrect as Cabinet mission goal is
not to have more Indians in ICS, at ICS caters its own act, so this
eliminates option B and C, hence option A is correct.

83.a¥ 2014 & forw gfexr amely enfed, fAeiotor 3N faehrd qWEhR fAeAfai@d
" 9 9 & &1 f&Ir ar are?

A. ST TRATI] T e

B. ¥RAT faae Geure

C. 9RAT HARET I HITeT
D. CTeT HANT THUT HEATA

Answer ||| C

Solution ||| Indira Gandhi Peace Prize for Peace is a prominent award
which is accorded by India to individuals or organizations who made
efforts towards promoting international peace, development and fresh
international economic order. The award carries cash price of 2.5 million
Indian rupees. In 2014, the Prize for Peace was awarded to Indian Space
Research Organisation for their path breaking achievement in Mars orbiter
mission thereby strengthening international cooperation peaceful in outer
space. With this, we see that option C is correct.

84.'¢Rd Stefarg AT (MeT FollgAe bs) & TN A Fe=faf@d & @ Ha-and
AT Tl &/ 87

(1). 7§ fashrasiier et 1 STefarg qRace I FHAT I g Heleholel 3R
~gARLOT TeHfadl H HETIdl & & 3T F &t g

(2). 38 UNEP, OECD, tfrar faera d& 3R favg §& & dcaraens & g
fopar arar gl

ARy fgU 91T e @1 JIANT F FE 3R giAT|

A. Fhad 1
B. ohddl 2
C. 1 3R 2 =t
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D.aar13ikadr2

Answer ||| A

Solution ||| Green Climate Fund is a financial mechanism of UN
Framework Convention on Climate Change that help developing countries
to control carbon emissions. It receives/takes donations from developed
countries and distributes it in developing nations so as to balance costs of
change to renewable energy sources thereby adapting to effects of
climate change. This statement confirms that it is correct. Statement 2 is
incorrect as Green Climate Fund is not founded under guidance of UNEP,
OECD, Asian Development Bank and World Bank. This eliminates option
B, C and D, hence A is correct option.

85.F=fef@a Fuar W R Hifsw:

(1). AR TUSET FEIH $Hr GUA Afgeln 3rege] qAfes A1y o
(2). RCAT TSET FIAE & TIH HTEelA HETeT Fedeglel dzad St |
3Ugad FUAT F @ FiT-aU F 7§/ 2

A. Faa 1

B. &had 2

C. 13k 2=t
D.Adar13iRaar2

Answer ||| B

Solution ||| To answer this question we have to analyse both statements
1 and 2. Statement 1 is incorrect as Sarojini Naidu was the first Indian
President of India National Congress and was not the first woman
President. Annie Basent was first Woman President of Indian National
Congress, this eliminate options A, C and D. Statement 2 is correct as
Badruddin Tyabji was elected as first Muslim president of Indian National
Congress in year 1887 at Madras session, so option B is correct.

86.3TH A fohdel HSUM ACT d TGS AT & S0 dc W Teh Ay FAIR Hr
TUTYT FT 3R 37 gaar & fafAf & 7 F 39a 59 a3 T5T W AT FA
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1 aTifica fordm TS e R & AT SITar A7 o oo AT & Sfaior & F@ed i
39 &adr & §?

A. 3ATEAY T
B. Seoll giadd
C. gReT guH
D. 9aT9&e gfadd

Answer ||| C

Solution ||| Option C is correct as Harihara I was founder of Vijayanagar
Empire who controls over the valley of Tungabhadra River which expands
till regions of Konkan and Malabar.

87.31 ¥ fhaat 31 1930 # AHAF Flefel dlsl & fAT dlk d¢ W &
HAGTT HaTfS fomam ar?

A. dr. 3. RgFRA MWeot
B. &, TSTNaTeTarRy

C. &. SR

D. Uit ST

Answer ||| B

Solution ||| To protest against the salt tax imposed by the British Raj in
India, the Vedaranyam March also called as Vedaranyam Satyagraha was
organised by C. Rajagopalachari on April 1930 along with group of
volunteers from Indian National Congress which started from
Tiruchirappalli and ended in Vedaranyam which is a small coastal town of
Tanjore District, so this statement confirms that option B is correct.
Option A is incorrect as V.0 Chidambaram Pillai was not involved in salt
satyagraha but is mainly known to set up first local shipping service from
Tuticorin and Colombo. Option C is incorrect as Kamaraj was involved in
Sword Satyagraha which was started in 1927 in Madras. Option D is
incorrect as Annie Besant was the founder leader of All India Home Rule
League that aims as self-government as Home Rule.
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88.'Mesrelidd Sl (Goldiloks Zone)’ ersg fAeAfaf@d & & Fas Tegdl &
HFH AR F @I SArar 872

A. 3956 & FW FIEINT HUse H HATT

B. 9l & 3fecX T dg &, [SHH AT A 3oy &

C. ET HedRaT H qeft S Frgl i @t

D. Hodalel U3t & Jobd Sohifust (Afe3iRIsed) @ @rst

Answer ||| C

Solution ||| Planet Earth occupies some region around stars which is
known as Goldilocks Zone. It is a region around star which is neither too
hot nor too cold where planetary mass objects carries atmospheric
pressure which helps to support liquid water. This system confirms option
C. Option A is incorrect as Goldilocks Zone is not in relevance with
habitable zone as it serves as range of orbits around star where planetary
surface support liquid water at required atmospheric pressure.

89.fFTaf@d FUAT W AR Hifaw:

(1). AR g fr R afed gu=e = & ARd g1
(2). gurersHT, fafder dar 1S &1 deeT 3eTeT gl gl
3SUFT HUAT A F HlT-AUT TET 8/ 82

A. Faa 1

B. &had 2

C. 13k 2=t
D.Aadar13ikaar2

Answer ||| D

Solution ||| Union executive comprises of President, Vice-President and
Council of Ministers along with Prime Minister who headed to advise
President. Statement 1 is incorrect as Executive power of Union of India is
vested in President who exercise his powers directly or by way of its
subordinate in accordance with Constitution. Statement 2 is also incorrect
as Cabinet Secretariat who is directly under the charge of Prime Minister
serves as an administrative head of Secretariat who is an ex-officio
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Chairman of Civil Services Board. Since both statements 1 and 2 are
incorrect so option D is correct.

90.37H diX W AR & 37T arelr RAT +20 (Rio + 20) HFHT FIAT 87

A. I8 RO fahrE (FEATS Saelvhee) W HYFd USE FFAC ¢

B. I8 g caMR @9 &1 FAadft (AAediRae) do &

C. Ig Sielarg IRace W IHec-AIhRT ol (SeX-ITaeidieel Yolol lel FASHE
dST) FI TFHCT &

D. Ig 39 ASUar W &ead & ST AT &7 TFHoT &

Answer ||| A

Solution ||| Rio+20 is related to United Nations Conference on
Sustainable Development also called as Rio 2012 whose emphasis is not
only on economic performance but intergenerational and intergenerational
equity. This statement confirms that option A is correct. Option B is
incorrect as Rio+20 Conference is not concern with ministerial meeting of
World Trade Organization. Option C is also incorrect as Rio+20
Conference doesn’t concern with Inter-governmental Panel related to
Climate Change.

91.Rd TWHR o Aifd (NITI) 3T & TUTar Heafaf@a & & fhaer T
o & fow & 82

A. AT ARR AT
B. faa 3marer
C. fafer smarer
D. IAISteT 31T

Answer ||| D

Solution ||| NITI Aayog is National Institution for Transforming India
Aayog which is a policy established by Government of India which has an
idea to replace the Planning Commission and involves respective states in
making economic policies. NITI Aayog will works on the strategic and
technical advice received from central and state governments that will
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consider bottom-up approach instead of normal top-down approach. From
this we see that option D is correct. Option A is incorrect as Human Rights
Commission emphasis more on working of political and economic rights
rather than on establishing economic policies. Option B is also incorrect as
Finance commission is nothing to do with NITI Aayog as it not involves
policies related to fiscal deficit and revenue deficit. Option C is also
incorrect as NITI Aayog will not involve in policies related to law and order
planning, but concerns more with matters related to Planning
Commission.

92.fArfaf@ad W fagr Hifaw:

R & AR H 3Tl & Holeasq

(1). 3UFAEIEHT A STEe o 3T BT AFITT §

(2). 38 & HiT TATTFAT H AT AR I6ig Fofod BT YT &9
(3). 38 &7 & dell (fA\Re) e wurfid Sl

A feT AT FHe H FANT F FE IR JEAT|

A. Fae 1 3k 2
B. ohddl 3

C. %der 1 3iR 3
D.1,2 3R 3

Answer ||| B

Solution ||| Gunpowder technology earlier appeared in India during 13th
century by Mongols who conquered China resulting in transmission of
secret Chinese technology. It was studied that Mongols initially used
Chinese gunpowder weapons, so this shows that statement 1 is incorrect
which eliminates options A, C and D. Statement 2 is incorrect as arch and
dome were introduced by muslim rulers before the ruling of Babur in
India, so this eliminates option A and D. Further we see that statement 3
is correct as Mughal Empire formed by Babur in 1525 conquered Delhi
from Afghanistan and established Timurid dynasty.

93.FFITf@d & F HIA-AT T, TS T 37AGTT el areil Yerdf & JIer W)
fAT=0T e AR 37 TOEEY T ¥ YAE-TET Fel (Hioler 313¢) & Hed &
GFICH 872
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A. STl I3H HFHCI
B. Affecdrel Weiahlel
C. TR Wcihlel
D. 9T HIeihiel

Answer ||| B

Solution ||| Ozone depleting substance prevents establishment and
spread of quarantine pests and to control it. From the options listed in the
questions, option B is correct as Montreal Protocol on Depletion of Ozone
Layer serves as international treaty that saves ozone layer by
discontinued production of substances responsible for ozone depletion.
Option A is incorrect as Bretton Woods conference is related to IMF and
World Bank and not with ozone depletion. Option C which is Kyoto
Protocol is also incorrect as it describes about cutting of emissions of
greenhouse gases. Option D which is Nagoya protocol is also an incorrect
option as it explains about benefit of sharing gains by genetic resources.

94.AFATAET Al H § fohoTehl FFeI-t eI & Silael & AT?
(1). 31aedr

(2). IR

(3). P

(4). #T8r

ARy fQU 91T e @1 JANT X FE 3R giAT|

A.1,23R3
B. shdel 2 3R 3
C.1,33k4
D. hdael 3 3R 4

Answer ||| D

Solution ||| Buddha during his period travelled across many places across
Northeastern and Central part of India to teach people. During his
preaching period, he covered 8 kingdoms such as Sakka, Kosala, Vaijji,
Angga, Magatha, Kasi, Vangsa and Avanti. Since Avanti was not directly
associated with life of Buddha, so this statement is incorrect, which
eliminates options A and C. Statement 2 which describes Gandhara as
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kingdom of Buddha is also incorrect as it serves as expansion of Mauryan
empire which again was not associated directly with life of Buddha, so this
eliminates option A and B. Statement 3 and 4 describing Kosala and
Magadha as kingdom of Buddha are correct as king of Kosala results as
Buddha’s contemporary. For teachings, Buddha travelled across towns of
Kosala and Magadha.

95.91Rd & fAe=Ifaf@d &= & & 59 e &, #HAg oo, @emoll a1 3R gumfa

geil T FIISTeT &2

A. 3T JTET 3Y gger
B. cf&ur-ufdas §amer

C. gigror |Rrsg
D. oA 3R RN cdiaaqg

Answer ||| D

Solution ||| Mangroves are largely found in the Andaman and Nicobar
Islands and the Sunderbans of West Bengal, so option B is not correct.
Southern Saurashtra carries moist deciduous forests which are not
evergreen and shed their leaves in March-April, so option c is also not
correct. Mangrove wetlands are present in the states of Tamil Nadu, North
Coastal Andhra Pradesh and Orissa, so option A is also incorrect. The
group of Andaman Islands carries Evergreen and Deciduous Forests as
these areas receive ample of rainfall. Tropical evergreen forests also are
present in slope of Western Ghats, hills of north-eastern region and
Andaman and Nicobar Islands, hence option D is correct.

96.519 HHE & Al Hewll T HIF doh H Hig [adas fafese (W) famar Srar
g, df 3 foFaes ganT aiika fRam e grar g2

A.maammaﬁwmaﬁrmwagﬂa
B.maammaﬁmmwm-zﬁaﬁagﬂa
C. Heed 1 ar-fagrs sgaAd

D.Ha?l’qu\U‘ragﬂ?r

Answer ||| A


http://www.gradeup.com/

e

www.gradeup.co gradeup

Solution ||| In order to pass any Bill, the government requires support
from both the Houses. Under article 108 in Indian constitution, there is a
provision of joint sitting for finalising ordinary bills/financial bills and not
money bills/amendment bills. The joint sitting is administered using rules
and process carried by Lok Sabha where the bill required to be passed
from majority of members of both the houses in accordance with simple
voting, with this option A is correct. Option B and C are incorrect as both
lead to supermajorities which includes 3/5 as 2/3 and 3/4.

97 farfaf@a afcal o faar fifaw:

(1). FART

(2). Segradr

(3). orfgdr

(4). 9=k

39dad A @ HiA-Ar AMerary H Ggrad AT 82

A. 1,233
B.2,33R4
C.1,23k4
D. &hder 2 3K 3

Answer ||| D

Solution ||| Vamsadhara River in Statement 1 originates from Odisha and
joins Bay of Bengal, so it cant be a tributary of Godavari, hence this
statement is incorrect. This will eliminate options A and C. Indravati River
in statement 2 is a tributary of Godavari River as it originates from
Eastern Ghats in Kalahandi district and flows towards Chhattisgarh state.
This river will traverse in western and southern direction before joining
Godavari River, so this is correct. Pranhita River in statement 3 flows in
Maharashtra and in Andhra Pradesh which joins Vainganga towards
Sironcha and joins Godavari River in Maharashtra, so it is correct. Pennar
river describe in statement 4 originates from Karnataka and flows towards
east by draining into Bay of Bengal which is again not a tributary of
Godavari, so this is incorrect and eliminates options B and C. Hence the
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required option is D.

GODAVARI BASIN

98.fAFfafEd oAt X faar Hifsw:

39S IAT A @ dle-an @ G AT ¢ / 872

A.13R2
B. &had 2
C.13k3
D. &hdel 3

Answer ||| B

Solution ||| Statement 1 is incorrect as Champaka state is not located in
Central India, but is located in northern India in region of Himachal
Pradesh which is commonly called as Chamba, so this eliminates options
A and C. Statement 2 is correct as Durgara state is located in region of
Jammu which is the Northern part of India, so option B is correct.
Statement 3 is incorrect as Kuluta is located in Kulu which is in Himachal
Pradesh which also lies in Northern part of India and not in Malabar, as
this eliminates options C and D.
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99.F9Y FI yRIAdAIAT ¥ FAT I §?

A. TG & HAlCT & SGol il 9o Y Hehedl

B. ¥ & Hod &I d&IR & AfFdal ganr fFuiRa gs &

C. & &l 3= Her3ll & 3R 37 A3l & ®F & gRafda el & FaaT &9
A 37T YeTel el

D. IR # #AeI3 & AT 3ecRSET deiR fahfad &

Answer ||| C

Solution ||| Rupee convertibility system allows amount of rupee which
gets converted to different currency with a view of foreign exchange. It
means that you can convert foreign exchange such as US dollars, Pound,
Sterlings etc. into Indian rupees and vice-versa at market determined
rate of exchange. This statement confirms that option C is correct.
Options A is incorrect as convertibility of rupees is not applicable on asset.
Options B is incorrect as it explains about the economic value of rupee
value in the market which is not asked in the question. Option D is also
incorrect as convertibility of rupee is not related to building relations for
currencies in market.

100.'3MeleT I8CH’ o o1 H Sl Sflel darell &7 eifailad & ¥ fhaa
Frafeyd geAT3il & Tegd H IeT-hel FATIRT H 37T 72

A. LT TRRET

B. #¥g g (fAfSe $¥<)
C. aferor-qa uhrar

D. #ET 375hieAr

Answer ||| B

Solution ||| Golan Heights is a Plateau which was situated between south
Lebanon, south Syria and northern Israel that was captured from Syria
and occupied by Israel in a Six-Day War taken over by Israel in 1981.
From the map we see that the demographic location of Golan Heights is
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Middle east.
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